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(17) Graphing Inequalities 

  

(1) 𝑓(𝑥) = 4 and 𝑔(𝑥) = 𝑥ଶ 

(a) Sketch the graphs of 𝑦 = 𝑓(𝑥) and 𝑦 = 𝑔(𝑥) on 
the same set of axes. 

(b) Find the coordinates where the graphs of 𝑓(𝑥) 
and 𝑔(𝑥) meet. 

(c) Hence, find the values of 𝑥 for which 𝑓(𝑥) >
𝑔(𝑥) 

 

 

 

 

 

 

 

 

 

 

 

 

  

(1) 𝑓(𝑥) = 32 − 𝑥ଶ and 𝑔(𝑥) = 𝑥ଶ 

(a) Sketch the graphs of 𝑦 = 𝑓(𝑥) and 𝑦 = 𝑔(𝑥) on 
the same set of axes. 

(b) Find the coordinates where the graphs of 𝑓(𝑥) 
and 𝑔(𝑥) meet. 

(c) Hence, find the values of 𝑥 for which 𝑓(𝑥) ≤
𝑔(𝑥) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

(1) 𝑓(𝑥) = 28 − 𝑥 and 𝑔(𝑥) = 𝑥ଶ + 𝑘, 0 < 𝑘 < 28 

(a) Sketch the graphs of 𝑦 = 𝑓(𝑥) and 𝑦 = 𝑔(𝑥) on 
the same set of axes. 

(b) Given that the set of values for which 𝑓(𝑥) >
𝑔(𝑥) is −5 < 𝑥 < 4, find the value of 𝑘. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


